KENDRIYA VIDYALAYA SANGATHAN, LUCKNOW REGION
CUMULATIVE EXAMINATION (FarfT gdYa) 2023-24

BUSINESS STUDIES (054)
CLASS: XI

TIME: 3 HRS SET-1 M.M:80

GENERAL INSTRUCTIONS:
1) This question paper contains 34 questions.

2) Marks are indicated against each question.

3) Answers should be brief and to the point.

4) Answers to the questions carrying 3 marks may be from 50 to 75 words.

5) Answers to the questions carrying 4 marks may be about 150 words.

6) Answers to the questions carrying 6 marks may be about 200 words.

7) Attempt all parts of the questions together.

g fAdern

1) 39 9T 95 H 34 U gl

2) AF U & AT 37 U 1T g

3) 3w dfgred 3R g a g =il

4) 3 3i% dTel 9T & 3a% 50 & 75 2sar H g Tohd gl
5) 4 3ih aror 9=l & 3a) oererer 150 grsel & & doha B
6) 6 37 aTor Ul & 3T T 200 grsel F & dha
7) 9T & T AR P TP AT g B

1

Tea is mainly produced in Assam; Cotton in Gujarat and Maharashtra; Jute in West Bengal and
Odisha; Sugar in U.P, Bihar and Maharashtra. But these goods are required for consumption in
different parts of the country . For this purpose ................ is very important.

a) Advertising b) Banking and Finance c) Insurance d) Transport and Communication

AT HT Icdleed HEAA: A H g §; JoRd AR AR H FHurg; g
SIS 3R 3 A S, gh, fWeR 3R #gRIse A Aelr| Afhd g7 awqg3it @
¢ & Affiea omlt & @ud & fov 3maegerar g §1 39 3eeT & fow
&) e ) dfFer 3R o= ar) & T) IRdes 3R FOR

Government of India established public sector enterprises to meet the post-independence challenges
of poverty, employment, illiteracy and regional imbalance. However, with time, government reduce the
number of industries reserved under public sector and promoted disinvestment. Why in your opinion
government promoted disinvestment?

a) Encourage public sector to take up greater responsibilities for society..

b) Provide consumers a limited choice, low quality of goods at lower price.

c) Transfer commercial risk to the private sector so that funds could be invested in meaningful
projects.

d) All of the above.
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HRA WHR & TaAAdl & dc 6, ASHR, IMRAeT 3R &g el dr
el & e & fou adeifas & & et & TUd=n | grellis, g
& Y, WHR & AlGoielsh &9 & ded IRTaId 3L $Hr FEIT A X & IR
fafaaer 1 sgrar fear| 3m9dhr T & WER o AfAaer &t ge@ar F4r Gam

%) AASIeeh &1 Pl AT & fov AS TFAGRAT ol & foT icdried aet
& fow |

@) YA B HH AT W WA &hod, HA IOET dlell U e
AT |

) aroifeas @A #F el &89 # TUAMRT &eT difer 8T & A
gRATST3T & fHaer fhar ST ash|

") 3U0eFd H|

Sukarn has taken fire insurance policy for his factory. Due to fire he suffered a loss of Rs. Two lakh
and he gets the compensation for the same. The half- burnt goods sold by the insurance company for
Rs. 30,000.

The related principle of insurance in the above lines is:

a) Contribution  b) Insurable Interest ~ c) Mitigation  d) Subrogation

THO A I FER & T HT S ot o ¥ 3T e ¥ 39 0 A
G TYY FT JHA B I R 3W FHHT HINAN Aeldl §. TersTell ATAT
§TAT U & 30,000 T9T H S|

SR dfkerl 3 S weRd ey

&) T g) dAT AT Rd ) A ") giaeuryeT
Match the Columns:

i) Pataliputra A. Major centre for export of stones.

i) Peshawar B. Major centre for textile Industry.

iii) Indraprastha ~ C. Commercial junction on the royal road.

iv) Varanasi D. Important exporting centre for wool & for the import of horses.
a) i-A, ii-D, iii-C, iv-B

b) i-D, ii-A, iii-B, iv-C

c) i-B, ii-C, iii-A, iv-D

d) i-C, ii-B, iii-D, iv-A

HIeTH & Hel AT

i) areforg T 9 & AT &1 v Fel

ii) gRITaT . HUST 3T FHT GG g |

i) SEUEY T, IgeT U3 W ATl SFAFU |
iv) SRTOTET 3. 3 3R B & AT & AU AgcaquT AT &gl
) T, i, i, iv-&r
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Q)i-aY, ii-T, i« iv-ar
an)i-alr, i, iii-, iv-2r
&) i, ii-al, ii-2Y, iv-u

Yogita, a business woman, has a Current Account in Punjab National Bank. Her Current Account
shows balance of just Rs. 40,000, while she urgently needs Rs. 2,50,000 to pay off one of her
creditors. She approaches PNB to allow her to withdraw Rs. 2,50,000, using the facility extended by
the bank to her due to her creditworthiness. The bank agrees to it. Identify the facility which has been
provided by PNB to Yogita.

a) Cash Credit b) Bank Overdraft c) NEFT d) RTGS

AT Afgelm AR FT GSa AATel Sk H =le] TIAT §l 366 oo @i A
el %.40,000 &1 AY E@RT =T §l Siafh 3H  doohled, HYel Teh olelgN
HITl A & fT 2,50,000 T9F HT S &1 3R WG & HRUT deh Gan
& 915 AT HT ITAT A U T 2,50,000 T fAArer A IefAfa & faw
oIl & TYH HLAT g S 5T AT 8 AT & g, NuaAdr 5 AfFar
T FAT FlAUT HIAT S B

%) HA hfsc @) dF a@we ) T § TH <r ") 3R & St v

OLX marketplace is a platform for buying and selling services and goods such as electronics, fashion
items, furniture, household goods and services by making it fast and easy for anyone to post a listing
through their mobile phone or on the web. Identify the component of e-business being described
above.

a) B2B Commerce b) B2C Commerce ¢) Intra-B Commerce d) C2C Commerce
NUATFH HFCCAH FAaeiadrd, heled MSeH, Bellay, Bel TH 3R Jarsit
RN eyt AR awgst A whed AR dw F vw FE § SN B F R s
3T ANGTST BT AT a9 & ATEIH T AR IRe Healr ol 3R 3mAeT Sarar
g1 39X vl $-<uqurT & Ucah & Ugde|

%) B2B I @) B2C Ay ) SeT-B HIAY ) C2C HiFAT

Which of the following statement is incorrect?

a) Ethical behaviour is above the behaviour required by law.

b) Top management plays a crucial role in guiding the entire organization towards ethical behaviour.
c) Employees should not be involved in the process of developing ethical programmes.
)

d) Ethics are essential for every business and for the progress of any society.

Pafaf@a & O #i9 a1 Hua 1oa 872

&) Afcdeh SAER el GaNT IATET TagR § FW g

@) MY Jet T e @ Afdd cgaer H R F ARG #a H Ageaqul
HfFFT fear ¥
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) FHARIAT P Afde FAHA ASAT e HT ufehar J afde 87 forar Jrer
IR
) ATdhdl Ui aaay 3R fhdr off Famer T warfa & T 3maas g

8. Choose the correct statement about Synthetical Industry:
a) Industry engaged in analyzing and separating basic raw materials into different finished products.
b) Industry engaged in combining two or more raw materials together in the manufacturing process to
make the final product.
c) Industry in which a product passes through various stages to become a final product.
d) Industry in which different components are assembled to make a new product.
RIRF 3¢ & R # T P T
) 3T AT ed AT I TARATOT 3N TET-3eldT IR 3cdrel H 37erT
A H M GIT &
) 3T 3ifaA 3cue T & fow fafaAor ufshar & a a1 & @ 3fRE
IS 1 Th AT A 7 9T g3 T
1) 3T T Teh 3cUle 3TaH 3eure §ofa & oI faffiest =Roi & aorar g
") 3¢9 TE@H Teh AT 3cUIG delled & [T AT Tcahl Sl Seheor fordT STdr
g

9. Which of the following alone can ensure effective ethic programme in a business enterprise?
a) Publication of a code b) Involvement of business
c) Establishment of compliance mechanisms d) All of them
frafafa & @ Fia ke Rt caeERs 3ggw & gaEr Afae s
gafkad #x Fadr &7
%) Uh HIg T YRl g) Iy T ARG
) 3Tl T I TATAT o) T Tl

10. Arrange the steps from the following required for raising funds from the public:

i Appointment of Bankers, Brokers and Underwriters.

ii Minimum Subscription.
iii SEBI Approval

iv Allotment of Shares.
v Filing of Prospectus or Statement in lieu of prospectus.
vi Application to Stock Exchange

a) v, i, iv, i, iv, i b) i, i, i, iv, v, Vi

¢) i, , i, vi, iv, v d) i, v, i, fi, vi, iv
STAdT @ €6 el & T 3aedsh fAeAfai@d wol & cqafead &
| dohd, stendl 3R 3sWiged A fAgfeal
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i 7ATH HEEIT.

iil Qe T FL

iv RRT &I 3Tde|

VAIEdeeH & dGol WEdded IT TCCHT Il el
vi Teleh TFHTS & folw 3mdest

F) V, i, iv, i, iv, ii ) i, iii, ii, iv, v, i

ar) i, i, ii, vi, iv, v ) ii, v, i, i, vi, iv

.

Intra-B Commerce transactions may be conducted for:
a) Human resource management  b) Inventory and cash management
c) Both (a) and (b) d) After-sale service

SCI-a dIuleyd olelcs] 394 folv ITed [T ST Iha §:
%) AT HHTY FeereT ¥) geacll 3R ARl gateT
M) e (F) AR (@) g) fshr & a1g dar

12.

Read the following statement carefully and choose the correct alternative:

Statement I: No person is eligible to incorporate more than 1 ‘One Person Company (OPC)'.
Statement II: A public company has a minimum of 7 members and no limit on maximum members.
Alternatives:

a) Both the statements are true. b) Both the statements are false.

c) Statement | is true, Statement Il is false. d) Statement Il is true, Statement | is false.

AT FU=T 1 eATqdeh qfeT R GEY Ao 1 T3+ Hifow:

FUT I FIg N IfFT 1 T 3™ TH @FT FIAT (TR B AT FA h
forT g =gt g

HYU |l Th Fdalfeleh HUT H +qAdH 7 HGET 8 & 3R 3fUhdA weedt 6
P AT T g &

F) QAT HUT T E @) Al HYUT AT &

M) HYUT | IcT §, HUT | ITed g o) YT || FcT g, HYT | T g |

13

Suppose Akash is a shareholder in a company holding 200 shares of Rs. 10 each, on which he has

already paid Rs. 6 per share. In the event of losses or company’s failure to pay debts, Akash is liable
to pay :

a) Rs. 2,000 b) Rs. 1,200 c) Rs. 800 d) Rs. 3,200

Al oifolT R 3TeRTer T el & RRURSE ¢ as 9 10 FIT & 200 AR
©l Jedd T 6 TIY AT I I§ Ye & F IH ¢l HIC A FHUH F HOT FH
HITATT A H Tathorar S FEATT &, 1T 1A el & faT 3eer &

F) T. 2,000 @) %. 1,200 M . 800 T) F. 3,200

14

Read the following statements: Assertion and Reason. Choose one of the correct alternative given
below:
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Assertion(A): Banks do not pay any interest on Current Account. Rather, it imposes service charges
for running these accounts.

Reason(R): There is no restriction on number and amount of deposits and withdrawals in case of
Current Account.

Alternatives:

a)Both Assertion(A) and Reason(R) are true and Reason(R) is the correct explanation of
Assertion(A).

b)Both Assertion(A) and Reason(R) are true and Reason(R) is not the correct explanation of
Assertion(A).

c) Assertion (A) is True but Reason (R) is False.

d) Assertion (A) is False but Reason (R) is True.

fArfaf@d sy g¢: amar 3R FRoT| H# TU av #@Er fawedt & @ v o
grar (V): d AT W W HIS SATST F6l &d ¢l Siosh, g Fef Wil @l Telled &
foT qar e I g

HROT (3R): °Te] WA & AAS HA FAT 3R Ferdy i gear 3 afr ) ag
gfdeer &7 gl

IGETZH

%) &ar (V) 3R FRUT (3R) all T g 3R FROT (3R) & (T) FHr Fgr
TISEIHIOT & |

@) ffeY (T) 3R FROT (3R) il TcT & AR FROT (3R) fFwRYUT (T) Fr
TET TISEHIOT AT B

a1) & (T) Fch § elfehel HROT (3R) Teld gl

) &IaT (V) ITeid & ifthel SROT (3R) T g

15 | Providing accurate and up-to-date information on the financial position of the company is a
responsibility of business towards:
a) shareholders or owners b) workers C) consumers d) government and
community
ST $r fadia Rufd W #@8% 3R 3cIdd SHAP Yo el Fadrd $Hr
SFAeRT Aefafad & 9fd & -
%) RRURS AT Alfelr W) AP M) IUHFAT ) WHR IR FHe
16 | Which of the following is not a characteristics of a cooperative society?

a) Membership is open to all, irrespective of their religion, caste, and gender.

b) The society can enter into contracts and hold property in its name, sue and be sued by others.

c) In a cooperative society, the power to take decisions lies in the hands of all the members of society.
d) The cooperative society through its purpose lays emphasis on the values of mutual help and
welfare.

Ao F @ i gy afafa f dvar 78 &2
%) TeEaar @3 & forw gelr §, =g 3o7a 4+, S 3R oo o ot gl
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@) GfATY 31geer & Jdr T Fohll § 3R 3191 ATH IR HI TG Hehell 8, HheAT
FehdT § AR GERT & SART AFHCHAT TeATAT ST Fehe & |

M) HEHRT GIATT 7 0T ofet Fr i GaATer & T gaear & grf 7 g &

) HgehRI HIATT 3T 384T o ATLTH H IREYNeh HFAAT 3N Hed10T & Hedl T
SR el g

17 | Read the following statements carefully and choose the correct alternative from the following :
Statement | Ethical business behaviour is beneficial only for the society and not for the business
enterprise.

Statement II: Employees should not be involved in the process of developing ethical programmes.
Alternatives:

a) Both the statements are true. b) Both the statements are false.

c) Statement | is true and Statement |l is false. d) Statement Il is true and statement | is false.
fFFfaf@d wuet I taeas ¢ iR Fefaf@d & & @8 faweT o

FUT |: Afae AGATAS TdgR hdd TATST & [T BRISHE &, f& caaaRs
3¢TH & faU|

FUT | FHEARAT FI AfdF FRIFH Fh@a = fr gfehar & anfae F& Far
ST AT

e

F) el AT T | @) el U Tl B

M) FYA | TT § 3R FUA 90T &1 °) FUA 1 FT § 3R FUA 37607 g

18 | Warehousing facilitates the availability of goods as and when required. By doing this, which of the
following utilities are provided by warehousing?

a) Place Utility b) Person Utility c) Both (a) & (b) d) Neither (a) & (b)
HUSRUT TGRIAT IS TR AT HT IUASKIAT T FIAT Jeled g1 oIr
¥ HUSRUT gaRT feAfalf@d & & HleT A IYARATT TereT HT e 87
%) TU 39AFNar Q) <afedd 39Aqfaar
) gEr (F) AR (@) g) o dr (%) 3R (@)
19 | Enables the customers to shop at their own convenience at any time (24x7).
a) Traditional Business b) e-Business
c) Both (a) & (b) d) None of these
................ gl A1 fRAY ot AT (24x7) 9T GRAUTER TR A A Tt
AT gl
%) TRURE TG @) §-cgaa
) gt () AR (@) 9)3AH & IS TG
20 | ltis possible to maintain 100% secrecy and confidentiality in the following form of business:
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a) Sole proprietorship b) Partnership
c) Joint stock company d) Joint Hindu Family Business

fAeAafld TR & egadrg & 100% e 3R INTAGAT FAT @1 HT &
%) Tho TdlfAcT g) ArsieRY
) EgF Yol et o) §gFd fewq IRaR geary

21

Naresh took a fire insurance policy from NICL of Rs. 50 lakhs for his factory at the annual premium of

Rs. 75,000. In order to avoid premium more than his amount, he did not disclose that highly

explosive chemicals are being manufactured in his factory. Due to fire his factory gets damaged. The
insurance company NICL refused to make the payment for claim as it became aware about the highly
explosive chemicals.

Is Naresh entitled to claim? Explain the principle of insurance violated by Naresh.

SR & TANSHCST & 50 oM@ F9F &7 3HFT AT Giferdr , 75,000 ¥9F &
af¥e NATH o | 30 AfATH @ v & QT 30 g8 787 sar=r &
3ol el A aRE AEwices T &1 AT fRar S @r &1 30T o §
wﬁ%@raﬁwgm%ﬁﬂmémﬁmaﬁ;ﬁwﬁmwwmﬁﬁ
SIPR R e Fifh 37 I AThiceh [T & IR H Il ol I1AT AT
FAT FET GIAT Fel F §hER g? e GaRT 3eodel [hU AT AT & RAgyurd &
se fHIfaT|

22

Discuss the difference between e-business and traditional business on the basis of :

i) Locational requirements.
i) Nature of human capital needed
iii) Operating Cost
OR

“ e-business offers numerous benefits ’. Justify your answer by giving suitable reasons.

$-CUaHT U4 URURE TG o ad iFafeli@d & MUR W 3Hed] FI5¢ Hl
i) TATT TaEl TaRITHAT |

ii) 3R AT ol T Tpfa

iii) IRETeTeT T

ar

' $-CTGHT 3eleh o1 elel el ¢ '| 3T HROT gl AT IR AT gise |

23

A group of seven friends decided to jointly set up a public company in a rural area where the people
were facing a serious unemployment problem. All of them jointly selected a place where the
company’s registered office would be situated. Along with it, with the advice of business specialists, it
was also decided what procedure would be followed for the issue and allotment of shares. All the
friends wanted their company to have a singular recognition, and people should get immediate
attraction towards its products. It was felt that the name of the company could become a reason for
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its recognition. After a detailed discussion, the company’s name was decided as Trimurthi Ltd. Then,
they jointly completed all the formalities of the formation of the company.

Identify and explain the two important documents used in the formation of the company quoting the
lines from the above para which helped you identify these documents.

ATl SNl & Teh THE o HYFd & & Uh AAIOT Selleh H Teh Hidolioleh el
T ¥t T Shaell fomar, ST ater IR IS hr FAEIT I TTHAT X g
q| g7 HM A AR Th 16 &1 T [ohaT SGT huell T Tolihd HrdTerd
fRua gem g% arr & e fAdvar & goe a I8 ff o e = &
MR IR A 3R 3EeaT & v w3 gfeear 39as Seeh| s By aga &
fo 3ol HUell @l T 3Helr ugue Aol 3R oo 3HS IcuEel & gfd R/
NTHNT g AT o fF YA HT AT & 3T UgAlT P HRUT §o7 Thdl g
feqa == & g Fuelt & 07 BEfd dffts oo R mn R, 3
Ao Fuelt & araet & |l oarRerard ot $il

Ul & ST H 3UANET fhT T & Hecd Ul eFdldsil &l 3qerd W § 3¢y
A U TET 3R FHSIT, [ST6d 3! 37 G¥ASi I Ggaletat H Agg fAel|

24

What do you mean by Global Enterprises? Briefly discuss its various characteristics.
OR
What do you mean by Statutory Corporation? Discuss its two Merits.

g 3eTAT @ AT FAT FASIA o? 390 [AfFieet faAwamsi w d@&g & ==n
|
qr

qifaftes @91 & 319 41 FASIA § 238 ar ol ) == Al

25

Explain the following telecom services:
a) Very Small Aperture Terminal Services.
b) Direct to Home Services.
OR
Explain the following e-banking Services:
a) Point of Sale (PoS)

b) Quick Response Code ( QR code)
fArfafEd qrEar |amnit v sarear i
%) g DN TIR efAe Jard|

&) @AY =W d& Jar|

frAfaf@a $-dfher Jam3it v sarear
&) Toshr &g (dr3nTd)
) caRa gfaferar #15 (FPR F13)

26

Explain the scope of e-Business.
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OR
Which type of e-business transaction is highlighted in the following cases?
i) Complaint lobed by a customer at the company’s call centre.
i) Withdrawal of money from ATM.
1) Employees send their daily report through e-mail.
iv) Sale of used books through eBay.com.
v) Conducting surveys to determine customer’s preference.
vi) Purchase of security lock system by Hyundai from Autocops.
vii) Inventory and cash management of an organization.
viii) Recruitment and selection of employees.

$-Taoleld &l GRRT HHSSY |

qr
fFafaf@a aFer § 59 9’ & 3-AUR e 9 WehIeT STl -7 87
i) Ueh ATgh GaRT HTall & Hiel X W AT $r 79|
i) TETH @ 48 Aol
ll) FHART 39T efereh ROAIE A1 & ATEIqT T Aol gl
iv) eBay.com & HTEIH & YJerd J&cehl I Toshr|
v) Tk I odg UiRd wa & faw adaror &)
Vi) §83 @1 HCIITH & FR&T ol RFeA &1 Tl
vil) oY EaraeT i g 3R AR geee|
viii) FHTRET Y o7t 3R I

27

Sunstar Steel Ltd., a leading manufacturer of iron and steel decided to setup a new factory in a
remote area of Rajasthan, so that unemployed youth from the rural areas could get same
opportunities as those available in the urban areas. This initiative has raised the standard of living of
people in rural areas. All children in these families are getting good education and these families are
also actively contributing to nation building process through their dedicated work. On the basis of the

given information, identify and explain the objective of business being followed by the company.
oligr AR gEard & 3ol fAedr deeer Eer fAfAes o Teeae & wh gy
Sollh H TP o197 PREEAT TAMAT I &1 o forar, arfes amefior a4t &
SUSTTR ATt T AL &1 & HAT G AT Feh| 5@ Uge & AT &1 &
A9 &7 Sfaed TARX AT 38T &1 37 IRART o AT s<ar Fr T e Ao @
g 3R ¥ oRar e Tafia wrt & acgs @ asg [T ufsar F o afeg
AETEIT & T 81 & 918 TThN & HUR W FHUeAl ORI AT ST g FaarT
¥ 35T H g AR GHET|

28

Discuss any four factors that determine the choice of form of organization.

fohegl TR Rl T TET B ST FISoT & TGRT HT goAld HAUIRA A &l
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29

The telecom services have been recognized the world-over as an important tool for socio economic
development for a nation and hence telecom infrastructure is treated as a crucial factor to realize the

socio-economic objectives in India. Accordingly, the Department of Telecommunication services, the

department comes under the Ministry of Communication and is headed by a cabinet-level minister. It
is financed by the government through allocation of funds in the Annual General Budget of

Parliament. |dentify and state any three limitations of this type of public sector enterprise.

eIEAR Fanst F g W A Rl e F aEeE-anE Rew & R
HEcaQUT 3UUT & §T H AT &1 75 § 3N AT HRA # FHATTSs-3nTdes
3eeRAT @ HHR A & v gIEIR AT o I Teh Hgedqul ek ATl
STl 81 TeeldR, qIEaR dar fa81mer, Ig faseT §uR #Ae & a3l §
3 g Adea Foeic TR H1 A T g1 38 WHN SN FHG & e
A dolc H U7 & 3dcd & AeIH F foaai¥a fFar Jar g1 38 R &
A1delfeleh &1 & 3¢TH &l 9gdlel Ud fdheal il AT $r sarear +i |

30

The Rajiv Gandhi Super speciality Hospital in Raichur Karnataka is a venture of government of
Karnataka and the Apollo Hospital Group (Private Enterprise), with financial support from OPEC. The

basic reason for establishing the partnership was to give super- speciality health care at low cost to

the people below Poverty Line. The Govt. of Karnataka has provided the land, hospital building and
staff quarters as well as roads, power, water and infrastructure. Apollo provided fully qualified,
experience and competent medical facilities for operating the hospital. Identify and explain the form of

enterprises and its three features.

MY hetiesd H Tolld M g TR 3eqdrel 30 & iy @I &
WY Feficeh THR AR Aol 39drel Fg (ol 3H) &1 T 3¢TH &l
AR TMUT A &1 HeT HROT IR 3@ F &A1 & o9l &l HA AHd |
FR-EIRATAET FAELT SWHTST YeTel AT AT| Fellceh ThR o A, e
Hael AN FIH FOIE & WY-HY G, TN, urelr AR gAAdy arer sy
AT g1 AN & IETAT & Faelel & [T g e & A9, 363 3N HarA
fafehcar glaure vere &l 3cg@At & T&aeq Td Iofl fhegl el faQwansit @
Ugdlel Ud A |

31

Differentiate between Life Insurance, Fire Insurance and Marine Insurance on the basis of:
Subject matter, Insurable Interest, Indemnity and Surrender Value.

OR
Explain any three Principles of Insurance from the following:
a) Utmost good faith
b) Insurable Interest
c) Contribution
d) Proximate Cause
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fawar awq, e deg sare, aifaqfa 3R @Ador Heu & ImuR 9 Siae oA, 3 A sk
AT AT F AT R A
qr
fArafaf@a & ¥ f & et e Rgyiat fr sarear w4
%) WH Heaad
Q) ST g {a
) 37ereTeT
") fshecdd HROT

32

Discuss any four reasons which justify the need for pollution control by business firms even though it
leads to drain of their precious resources.

OR
Give the meaning of social responsibility of business. State any five reasons in favour of assuming

social responsibility.

fregl IR #ROT W Tl H® SN AaEE AT garT gguur faEer i
3TETSAT A 3T s8I %,mﬁmmwwﬂﬁﬁmﬁ@
gl

qr
gIgTT & AT ITEI™Acd T Y Idsy| iAo 3RS Acd THTS &
geT H P IT HRUT A3y |

33

After completing the graduation, three close friends (Gopal, Shankar and Vinod) decided to start a
partnership business of manufacturing mobile accessories. However, all three of them are confused
about the type of partnership, they should start.

e Gopal wants that the partnership should be such that it can be brought to an end at the
desire of any partner.
e Shankar wants to do the partnership business for a period of three years only.
e \inod wants that his liability should be limited in the business.
|dentified and explain the types of partnership that the three friends are referring to.

Eide A 9g6 QU A & dG, il S el (INTed, AR AR fFellg) oF
A TAEIS & WA B AP Haa E R H haer
glellfeh, d el 3 IT &l ol 3o H § T 3o¢ o g 1 @rsiell &
AT AR

« YTl AEd ¢ T IIeeRiAT OAT & fF fhar 8 uideR fr 30T W 38 TcHA
fRar o Jh|

QY hddl dieT a¥ I 3G & T IR TIa@™T T I8dT &l

faeie area € fF o= & 3ot ¢oer d@iffa R

T T 9T 9 I AR FT 3o T | & 39 Ugde 3 AT

34

Ganga Ltd. is a reputed company manufacturing computers. The company is earning a considerable
profit. Both the proprietors and the employees are putting their best efforts to make good quality
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products available to the customers at a low price, paying its shareholders a good amount of
dividends and the employees a reasonable remuneration This contributes to the successful
operations of the business. With increased profits over time, the company’s foundation becomes
strong, and it earns a good reputation in the society. It utilizes its profit to finance its growth and
expansion requirements.

Explain the role of profit in business of Ganga Ltd. highlighted in the above para.

I fAfAes Feger oo arell Teh 9fAfSed Ul §1 HUel 3T WHEAT HATh
HAT W . Al AR FHAARY Sl AGhT AT HA HIAT T TS IUIEdT drel
3cUe 39TsY T & [T 39T IASS WA T 1§ &, 3797 ARSI i
ST AT H AT AR FHTRET Fr 3T aRefEw ¢ W)W S cgaww &
G HATelel 3 ARG ST §1 THT & A FAAHT GG ¥ el T ofid Fotgd
gidr § 3R ag g A 38T gfaser AfESd aXdl &1 I8 39 AT T 3TN
HAT geftr 3R faFdR a3t A @ F& & v aar gl

3qttad 40 # 3feaf@d e fAffies & cgaary 7 amer $r fRer Tase ¥

B R R R R R R R R
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